x+1

-x+1

P = simplify(expand( (X —x) - (X —g(x)) (X —g(g(x)))- (X —g(g(g(x)))) (X —h(x)) (X
—h(g(x))) (X —h(g(g(x)))) (X—h(g(g(g(x))))))):

# Le polynome minimal de x #

seq(simplify(coeff (P, X, k) ), k=0..8); # Ses coefficients #

g =x— th = x—>% : # Nos homographies #

Lo. - X4+ 14x1 41 2 (P47 4720 +1) )
Y xz(x2—2x—|-1) (x—l—l)Z, ’ xz(x2—2x—|-1) (x—l—l)Z’ ’
X4 14x 1
T 202 -0, 1
X (x —2x+1) (x+1)
8 4
t:= x tldx +1 5 simplify(14 +2 8); ¢ :="t"- # Travail sur le coeﬁicientdeX4#

¢ (x2—2x+1) (x+1)
2 (x8+7x6+7x2+1)
C(F=2x+1) (x+1)?
galois(x8 — 2+ (14 + 2-t)x4 — X+ 1, x); # La recompense #
"8T4", {"D &(8)", "[4]2"},"+", &, {"(1238)(@4567),"(78)(16)25)(34)"} A3)

()]



